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w1 e 0w aghe w8 35 IF 20 2/ wdw v 5 3w anaren &/
TEF 5 W 7 0 w0 2 3w w7 (v i 30 %)

77 F 8 ® 10 T FRT 77 3 45 ¥ (% @5 75 w*)

T F 11 # 15 0% GRS TF 4 I BT (7% 6 120 7%)

TFT & 16 © 18 0% TOT Q¥ 5 I& ¥ (W& i 150 =)

o E 5 # 18 0F IRkw Rewy R 2 8

All questions are compulsory. Each question carries 5 marks.

Ques. No. 1 to 4 are objective types questions, carry lotal 20 marks.
Ques. No. 5 to 7 each question carries 2 marks (word limit 30 words)
Ques. No. 8 to 10 each queslion carries 3 marks (word limit 75 words)
Ques. No. 11 to 15 each question carries 4 marks (word limit 120 words)
Ques. No. 16 to 18 each question carries 5 marks (word limit 150 words)

(vil) Internal choice Is given in every question from question No. 5 to 18.
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91 O qaen 31 are Ry (5x1=s)
(3) @i W A Colda & TET] HETOAT I3 FEI -

(1 CeMs; (n}  CuoHye
frmy CaH, W CH
(@ -1 A § { faaE spa? (R YR orer g
1y Al piy Al
(tir) Al (v) AP
(\) g FNR G pH WE EIA B
) 74 (i) 0
(i) &8 (iv) 12
(#) CH3Cl A Frds &1 BT 3w & -
(i) sp (i) sp?
(i) sp? (iv) sp’d
(8) w0 wEHE HqE R -
(i) CrHzn () CaHoar.2
(iif) CnHan (iv) GnHzn2

Choose the correct answer -
(a) Formula of Benzene is CsHs . its emperical formula will be -

(i) CesHi> (i Gz
(i} CzH: (iv) CH
(b) Which ol the lollowing have smaller size (atomic radii)?
(i) Al iy Ar
(iii) AP (iv) AP
(c) pH value of Human blood is -
(i 7.4 (i) 10
(i) 6.8 (iv) 12
(d) Hybridizea stale of carbon in CH;Clis -
() sp () sp?
(iii) sp? (iv) sp*d
(e) The general formula of Alkane is -
(i) CoHzn (i) GuHeniz
(iii) CaHan (iv) CnaHzn2
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uy [ e Ay ofd arfoary - (5% 1=5)
() Uiy Ar a9 Sl R XA L WA L] Af 1A
@ winedWr @AWW (123/012)
() ay el gra o a1 A vrm B
(e 5 A 7 ooty
(@) whomanya . e B (DO / HAO)
() &g . R 1‘! 1'-1'“71 B (s-wdtm/ powtto)
Fillin the blanks
{(a) Sl unit of thermodynamic !umparatura is . ceresmors
{Kalwn / Fdr&nhmtj
(b) Hin=3 thenvalueof 'I"willbe .....cccccvnrmnrennens (1,2,3/0,1,2)
(c) By Bomb calorimeler we Measure .........cccoovrresmmmsrusrerranna
(internal enefg y | enthalpy)
(d) Formula of heavy water is ............ (D0 / H0)
(e) Alkali melalic related 0 .......c.ccoeovvmnrennen (s-block / p-block)
w3 W) g -~ (s%1=5)
o b
() Y& Ad @ drae (a) @i 2
(i) a9 TS T AR (b) @i 3
(iii) T e g s (c) 5=
(iv) s —@t& (d)y 20
(v) p —=if® (e) Li
Match the columns-
(A) (8)
(i) Molality of pure water (a) group?2
(i) Molar mass of heavy water (b) group 13
(i) Highest hydrationenergy  (c) 55.85
(iv) s - Block (d) 20
(v) p- Block (e) L
W4 UH IE/U&F a3y A TR ifan— (5%1=5)
() i aiw @ oftw Fafag

(i) TEA OR A GEE I T OE, 0P I fin
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() CH: = CH; 5v] & Foiem " (g) 3 73 (X) I & 75T fordsa
(V) T g oargs @ s F5 =T
(V) SREE g T s @ pEaiE ws STt
Answer in one word sentence -
(" Define moie fraction.
() Wnte the example each of Lewis base and Lewis acid.
(M) Wnte the number of sigma (o) and pi () bonds present in
CH: = CH; molecule.
(v) Write the general tormula of Alkene and Alkyne.

(v} Write the chemical formula of iodoform and acetic acid.
TIR & SUTIR dge v

Wnite Pauh Exclusion principle.
sua/OR
U= 7 ¥rRERE 7 R T R

Write electronic configuration of Neon and Phosphorus.
T 13 4 gueE = @ am AR

Write the names of elements present in Group - 13

Jerr/OR
ST # a R
Deline catenation.
Cpuicirrdaliccu B ice 1l
Define Benzonoid.
g

we-2-§1 3 Wy 3 Ry sl v @
Draw Cis and Trans geometrical isomers of Bul-2-ene.
= yeds 59 Ted &7

What is limiting reagent.

@

@

@

(3)
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Yt o A Zapg sua g

() GHs () NH, (1) NaCl
Calculate the molar mass of the following-
(y CHq () NH, (ur) NaCl
do  0ma a faay tatae g ganeem Sfan (3)

State Hund's rule with example.
Iy /OR

‘hﬂ"_ L AAD A q lh!1 e{d ’rqtﬁj'!'
Wrie three diferences between orbit and orbital.
W10 singfan sad fam tatan ) s swiad wfeesn a e at @ amad #2 (3)

Wnite Modern Periodic law. In modern periodic table how many groups
and penods are there?

Jerar/OR
it 17 & M sad A Iufr qm w1 A, g e gATIREE R

fl"ﬂ'r'ﬂ.' |
Write the name, atomic number and electronic configuration of element

present in third period in group 17.
1 a8 a8 vt Aen @ s ra e o wWHE R 2 (4)

(HazTs)
Why are the physical and chemical properties of elements present in
same group are similar? Explain.
ar/OR
S-@llE 7 p-aile & de 9 UR ¥R fafa |
Write four differences between s — block and p - block elements.
W12 Wfdd ubm A wnArren & A AR sfree fafag (@)

Write any four characteristics of a physical process in equilibrium.
Fuar/OR

e ot ora v and g Sftm e g WeeTRd aw Wy

I~ HE I F e Hif |

State Bronsted Lowry acid and base concept with example and also

clarity conjugate acid and base pair.
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W13 FIgSat & snronfaan & am gdve n 3 Jufiem gAat aeta g
@ FTwaan Atan
Write the i1sotopes of Hydrogen, their name. symbol and also write
number of elecirons, protons. and neutrons present in .
yua1/OR
Het A g T g e & arm 27

What are the reasons of tempoarary and permanent hardness
Uia e T T aifa gar urln A g fea fagan AT -

(i) v geaziae fa-ara

(il) MR NHIM 3TN

(ni) RT3 A UBR

(iv) egarrgs # Raan

Compare the alkali metals and alkaline earth metais on the following

points -

() General electronic configuration

(i) Owdation state

(W) Types of oxide

(iv) Solubility of Hydroxide

of water?

yuai/OR
T g ¢ T (ded vantE whee fafan) -
() F=hfiem 1 g@ 4 FA@E ATA 2
(i) wiEam U] & T/ I T2
What happens when (write only chemical equation) -
(i) Magnesium is burnt in air
(i) Sodium is added in water

915 Pre sfefsmsi & g1 & -
Complete the following reactions -
(i CH,-C=CH+Br-Br—- e

(1) 3CH=CH— ™ e,

AT 873 K
(iin) CHZB' -CH2af + KOH S A

(v} CaC, + -+ ——> Ca(OH), + CH,

(a)

)

)
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Suq/ OR
SUE B ATEN T F AR e asmE |
Explain the struclure of Ethyne on the basis of Hybridization,
Fe ) yftmg fafar - ' (s)
O Bem i) ae fem (i) Refma fem

W) =M (V) sgm Prem
Deline the following -

() System (i) Closed system (iii) Isolaled system
(v} Entropy (v) Adiabalic system
v /OR
B @ o R —
() 3=RE Foq
(i) =& Fum

Define the following -

(i) Internal energy and

(i) Heat of combustion

#R1 @ UFTEE A W 3 i 4 AiRka P PRy | (@7 ) (s)
Write the inherent ditterences between Diamond and Graphite on the

basis of structure and properties. (Any five)

Jear/OR
PR FAFY —
() I%TEe qeF FEd I T 4 ggeE a g
(i) QIR T A ofifm B e & gvam g 2
Give reasons -
(i) Graphite is used as dry lubricant.
(i) Aluminium alloy is used for making aeroplanes.
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Wis  PuatNER 6 IUPAC -m fafam - 5
()  CHCly

0
) I
(i) CH3 —C— CH3
(m) CH3CH;CH;CH,

CH:3

. I
(V) ‘C:H3 — C—OH
l

CH3
— — CH —CH_— CH,— CH—CH_—CH
(v) CH3 ('.:H2 ('IJH GH2 ‘:}H2 (l‘.H CH2 3
OH CH3
Write the IUPAC name of the following -
() CHCl
0
) Il
(i) CHS —C— CH3
(1) CH3;CH:CH:CH;
CH
| 3
(v) CH, — (|: — OH
CHa
(V) CH.’!_ CHZ_ (IJH _CHZ_ CH2— ?H —CH2—0H3
OH GH3

aE/OR
dftre wire AR FEd &7 399 UORI B FHAEC|
What is inductive effect? Explain its types.

———— W A A S S s

172 [M-2913-B] Poga 8ol 8



